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& 37,452,755
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2 49,780,820
= 66,350,000
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MESIE SR ALY 5,653,560 7,232,000 ,578,440
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[JMEHGIE =& 5,653,560
= 5,158,000
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01 A2 2 2ldl 38,800 17,600 21,200
Deet=3Hl 27,200
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A S&HD
R H2US
S Tt — —

Sl AT (S5l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
03 Al HF=XIH =AY 10,000 0 10,000
OMHSEEL=MLERFA 10,000
307 QI2t0| ™ 600,000 0 600,000
02 OI2tFAMNE X 600,000 0 600,000
20129 sd =222 A 400,000
22t LA = X2 200,000
ST AIE 22 120,517,920 66,061,600 54,456,320
= 41,058,820
& 66,350,000
== 13,109, 100
ALJABSPAFOX ALY 93,820 87,100 6,720
= 93,820
403 XHXISHHSAH20| A 93,820 87,100 6,720
= 93,820
01 MXIEM A2 E X 93,820 87,100 6,720
OMJAE8SPAFOX AL 93,820
= 93,820
I ZMEZI AT 2| 2HZAS 144,300 239,800 295,500
= 111,000
= 33,300
403 XXM S K201 A 144,300 239,800 A95,500
= 111,000
= 33,300
01 AEXIEHHMI A2 2 & 144,300 239,800 A 95,500
DIz ME-3IIRASEE202AHZAY 144,300
= 111,000
== 33,300
HNASE sSU3S==2 XA 85,800 466,700 380,900
= 66,000
= 19,800
403 XtXISHMS K201 A 85,800 466,700 380,900
= 66,000
= 19,800
01 AEXIEHHMI A2 82 & 85,800 466,700 380,900
OMASES2US =N 85,800
= 66,000
== 19,800
=ZH A3 44,000 90,000 A46,000
308 AR SO0l H 44,000 90,000 A46,000
((2PSESNTIR= = 44,000 90,000 A46,000
O ReE3dr-1NES 44,000
SHEMEZE:Y 59,509,000 41,020,200 18,488,800
& 54,076,000
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SAN: S4AE
B AP 2P I (BABS/MGAT - £F)
SR =T AlA 22| (cte- &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OS2 UXHAAAE RS 2,456,500
2 1,570,000
== 886,500
Nehat= SO AIS 3,700,000 4,000,000 300,000
403 MRS S K20 3,700,000 4,000,000 300,000
01 AXHHMANEE X 3,700,000 4,000,000 A 300,000
OXNSALC AL =2 A 3,700,000
OZA2nost A 1,228,000
OAl&EfEYe2e2d 1,144,000
O=F2Z00HM (N A, 24 44) 1,328,000
DS AIE B & HAlE AX) 1,600,000 1,600,000 0
403 XtXISHMS K201 A 1,600,000 1,600,000 0
01 AEXIEHMI A2 2 & 1,600,000 1,600,000 0
I E=FNE NS P = UPSESYNES) 1,600,000
A2 ERFA 19,500 16,500 3,000
201 LBt2HH| 8,000 5,000 3,000
01 At 22/l 7,000 4,000 3,000
Odt~24| 7,000
ONEEETAUSISHES 7,000
02 S32gH| 1,000 1,000 0
IZBZ22YLHA 1,000
Osct= a5t =& 3| 1,000
202 o4 H| 11,500 11,500 0
01 2| 11,500 11,500 0
OxZAE22gR2FE 0| 11,500
2N A (MY AT X2AY) 40,788,000 0 40,788,000
= 40,788,000
403 MRS S K20 40,788,000 0 40,788,000
= 40,788,000
01 XM A2 E X 40,788,000 0 40,788,000
(DIssSiadrEs2 40,788,000
= 40,788,000
StEI|IEANYE SHE(BFES /ML - £=8) 338,541,895 311,620,500 26,921,395
= 316,789,000
= 21,752,895
Sl AlE 2t 302,074,000 291,969,500 10, 104,500
= 283,924,000
== 18,150,000
olEXel&ES 72,732,000 89,665,000 16,933,000
= 64,373,000
& 8,359,000
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SAN: S4AE
Bu: HAIIZAL HE(BFLE/MGEE - +E)
E2 . Stx=TAlE 22 (cte- &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
403 XXM S K201 A 72,732,000 89,665,000 16,933,000
= 64,373,000
= 8,359,000
01 AXHAMANEE X 72,732,000 89,665,000 A 16,933,000
Oote=XHel &&=z 72,732,000
2 64,373,000
= 8,359,000
olx=Hel &&= (2IX}) 16,708,000 2,583,000 14,125,000
= 15,262,000
& 1,446,000
403 XXM S K201 A 16,708,000 2,583,000 14,125,000
= 15,262,000
& 1,446,000
01 AXSHHMANE2EE X 16,708,000 2,583,000 14,125,000
CotExel&E= (21X} 16,708,000
= 15,262,000
o= 1,446,000
o2t HEHIAFS 63,780,000 58,357,000 5,423,000
= 63,780,000
403 MR SHHSA20lS 63,780,000 58,357,000 5,423,000
= 63,780,000
01 AXSHHAE2EX 63,780,000 58,357,000 5,423,000
CJot=2H & I 63,780,000
= 63,780,000
ot =2t D1 &I (21 X}) 11,741,000 6,230,000 5,511,000
= 11,741,000
403 XIXI SIS K201 A 11,741,000 6,230,000 5,511,000
= 11,741,000
01 AEXIEHHI A2 82 & 11,741,000 6,230,000 5,511,000
CJokz=2t{ & d| (S X}) 11,741,000
= 11,741,000
HOHete=Xel & &AX 7,137,000 10,274,000 A 3,137,000
= 6,475,000
== 662,000
403 XXM S AH201 A 7,137,000 10,274,000 A 3,137,000
= 6,475,000
[ 662,000
01 AXEHHA2EX 7,137,000 10,274,000 A 3,137,000
OHcot el & 7,137,000
= 6,475,000
& 662,000
SHE0I20=T &EH| 33,129,000 17,213,000 15,916,000
= 30,219,000
o= 2,910,000
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SAN: S4AE
M. SHIZANE S5 (SHdEB5 /4002 - &)
E2 . Stx=TAlE 22 (Gt &)
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
403 XX SIS K201 A 33,129,000 17,213,000 15,916,000
= 30,219,000
& 2,910,000
01 AXHAMANEE X 33,129,000 17,213,000 15,916,000
[OsH=0t=2ot==& 0| 33,129,000
= 30,219,000
= 2,910,000
SHEOISoIE=S=FEI (21X 3,455,000 3,457,000 A2,000
= 3,145,000
& 310,000
403 XXM S K201 A 3,455,000 3,457,000 A2,000
= 3,145,000
& 310,000
01 AXSHHMANE2EE X 3,455,000 3,457,000 A 2,000
OsOHE0ISota=S&™HI (B A 3,455,000
= 3,145,000
o= 310,000
otx=Held sit |2 atst 12,411,000 13,671,000 A 1,260,000
= 12,411,000
403 MR SHHSA20lS 12,411,000 13,671,000 A 1,260,000
= 12,411,000
01 AXSHHAE2EX 12,411,000 13,671,000 A 1,260,000
Oot=XHel & 8At e 34t 12,411,000
= 12,411,000
ol HEA |23 AE 10, 134,000 10,420,000 A 286,000
= 10, 134,000
403 XIXI SIS K201 A 10,134,000 10,420,000 A 286,000
= 10,134,000
01 AXIEHMAEEX 10,134,000 10,420,000 A 286,000
ot HEB 32 =4E 10,134,000
= 10,134,000
ot HAHIAISE (£ HI) 1,000,000 950,000 50,000
403 XXM S AH20| A 1,000,000 950,000 50,000
01 IXIEMAEEER 1,000,000 950,000 50,000
o= H A b 1,000,000
ol HEHIBTLAIE A S X2 34,898,000 20,391,000 14,507,000
= 34,898,000
403 XIXI SIS K201 A 34,898,000 20,391,000 14,507,000
= 34,898,000
01 IXIEMAEEX 34,898,000 20,391,000 14,507,000
[JotE=2HBTLAIE L HE X2 34,898,000
= 34,898,000
otx=Xel=MOolSAIS 23,243,000 7,945,000 15,298,000




SA: 2D
M. SHIZANE S5 (SHdEB5 /4002 - &)
&l St AL 22 (&9 HM
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
= 21,924,000
= 1,319,000
403 XXX S X201 A 23,243,000 7,945,000 15,298,000
=2 21,924,000
= 1,319,000
01 IXIEMAEEE 23,243,000 7,945,000 15,298,000
ot X2l =0l 2 ALY 23,243,000
=2 21,924,000
= 1,319,000
ot A2 ERE=A 27,000 30,500 A 3,500
201 B2 9| 15,000 8,500 6,500
01 AtR22t2| | 9,000 7,500 1,500
O gt~EH| 4,000
OMNRESFLLROUZMHES 4,000
Osgsdg 5,000
Oot=T 22| R USRI LAY 5,000
02 3524l 1,000 1,000 0
(2222 A 1,000
Ost=3I & a3l 1,000
03 SHAI2HHI 5,000 0 5,000
(MGl ESRAYFAET 5,000
202 (4 Hi 12,000 12,000 0
01 2L I 12,000 12,000 0
Oot=S Al 22| P R=E oY 12,000
AFGt=Hel & 4 11,679,000 0 11,679,000
= 9,562,000
& 2,117,000
403 XXM S AH20| A 11,679,000 0 11,679,000
= 9,562,000
== 2,117,000
01 AXI SN A2E X 11,679,000 0 11,679,000
BETL PO EIEIE 1,679,000
= 9,562,000
& 2,117,000
Q% - ELRHAIE 22 36,467,895 19,651,000 16,816,895
= 32,865,000
= 3,602,895
JHelat=Hel Al 8- XX & 286,000 204,000 82,000
= 286,000
403 XXM S K201 A 286,000 204,000 82,000
= 286,000
01 XM A2 E X 286,000 204,000 82,000
OoHelBt==H 2l Al & 286,000
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SN (B) - MBEAY - B2 Ol AF o4 gggf; HDE2
| = 286,000
o XelAEEs 1,322,000 1,392,000 70,000
= 1,322,000
403 XX SHHSA20| A 1,322,000 1,392,000 270,000
= 1,322,000
01 MIXIEMAZ2E X 1,322,000 1,392,000 270,000
O2=HdelAds= 1,322,000
= 1,322,000
IEELE3HEAIEE X ALY 31,558,775 17,135,000 14,423,775
= 29,357,000
& 2,201,775
403 XXM S K201 A 31,558,775 17,135,000 14,423,775
= 29,357,000
& 2,201,775
01 AXHAMANE2E X 31,558,775 17,135,000 14,423,775
(DI a3 HelAld 31,558,775
= 29,357,000
= 2,201,775
SESEANAAIY 900, 000 900,000 0
403 XXM S K201 A 900,000 900,000 0
01 AXHHMANE2EX 900, 000 900,000 0
O3SSEAME A 900, 000
2ESIHASEA (ST )AEREAMNY 130,000 20,000 110,000
= 100,000
= 30,000
403 XX SIS K201 A 130,000 20,000 110,000
= 100,000
& 30,000
01 AXESHHAE2EX 130,000 20,000 110,000
OJZ2ESHASEHAH(ESLET)AERE 130,000
= 100,000
& 30,000
IEESZ22HeAEEINAMNG (NS =EEHEH) 2,031,120 0 2,031,120
= 1,800,000
== 231,120
403 XX SIS K201 A 2,031,120 0 2,031,120
= 1,800,000
= 231,120
01 AXEHHA2EX 2,031,120 0 2,031,120
(=L Z2Z2H2AIE(XYHASESHEH) 2,031,120
= 1,800,000
= 231,120
UYSUAEFHYEEZSSSIHEAETY 240,000 0 240,000
403 XXM SA201 A 240,000 0 240,000
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